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AT AR B 25 |8
IRT 4% %% a=127 b=-0.86 c¢=0.14
[ 3142 P )] three, three, three
%EEI =z 7z
[55:E58] @ three @ there @ they
E01
= #x B oA AR A AAfEE A
4ok ] 3335 40.5 78.4 78.4
2 677 8.2 15. 9 94.3
3 229 2.8 5.4 99. 7
9 14 .2 .3 100. 0
e 4255 51.6 100. 0
v L IE BEE A RBwad ik 3986 48.4
(CTT) e 8241 100. 0
E IR A AT
£ 7 x 2 3 Ay
i 9 78 .16 .05 .00 .00 i 0 78,378
FAE .99 .01 .00 .00 .00
A 40 .40 .19 .01 .01 &5 R 00,5936
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P 3‘% £ 1-1-2 e FREF % 5 ©
AR AR R L)
IRT 4% %% a=07 b=-09 <c=20.33
[#.7 ¥ % ] show, show, show
A [f34Ep 2E3] _ _ ow M ch @ sh @ sl
E27
= # o FoRF A | R A
4] 147 1.8 3.7
2 3245 39.4 81.4
3 586 7.1 14.7
9 8 Bl 2
FRe 3986 48.4 100.0
- B IE BEE AR el R 4255 51.6
(CTT) e 8241 100. 0
E IR A AT
£ 1 2% 3 H
E % .04 .81 .15 .00 .00 W€iE % 0 81,410
B .00 .99 .01 .00 .00
A 120 .58 .29 .01 .00 4R 10,4066
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IRT %47 % #ic =1.70 b =10.03 =0.23
[# 348 P )] Take out your book.
[53@=]
@® @ ®
AP
o)
S
)
>
E09
=< #c B oAt AR A AP A
4ok ] 2471 30.0 58. 1 58. 1
2 1233 15.0 29.0 87.1
3 541 6.6 12.7 99. 8
9 10 Bl 2 100.0
e 4255 51.6 100.0
- B IE BEE AR el R 3986 48.4
(CTT) e 8241 100. 0
E IR AT
£ 9 1x 2 3 H
E 97 5 58 .29 .13 .00 .00 i % 058,073
B .98 .02 .00 .00 .00
A 18 .56 .26 .00 .00 #ul R 10,8034
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[#7/38P ) [ can’ t find my hat. Where is it, do you know?

e [ 24 FEHE] D [t sinyour car. @ Itiswhite. @ It s
very hot.
E13
= #k B A O A AfEE A
4ok 1 2016 24.5 47.4 A7.4
2 521 6.3 12.2 59. 6
3 1705 20.7 40.1 99.7
9 13 ) 3 100. 0
e 4255 51.6 100. 0
+ L1 R T st B 3986 48.4
(CTT) afe 8241 100. 0
I AT
F 7 2 3 dw
S AT 120 .40 .00 .00 € 5 1 47,380
B A 96 .01 .03 .00 .00

[
3
&

.20 .21 .59 .00 .00 #w Rk 2 0.7676
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IRT :#4L 4 # a=19 b=02 c=023

[Z3/42P J (% ) Mom, I' m hungry. Can I have some cake?
(%) No, not now. Dinner is ready.

[z 5% 48] Why can’ t the boy eat cake now?

A2 [#3 x5 3E7]

1 He is not hungry.

@ It" s time for dinner.

@ His mother can’ t make a cake.

E39
= e B O A AFE A
3 peen 1 550 6.7 13.8 13.8
2 2291 217.8 57.5 7.3
3 1139 13.8 28. 6 99. 8
9 6 1 .2 100. 0
BAr 3986 48.4 100.0
R/ E I e &l B 4255 51.6
A 8241 100. 0
# 1 2% 3 #i
EIF 40057 .29 .00 .00 g F 257,476
B A e .00 .98 .02 .00 .00
oA LT .22 0 .41 .00 .00 W& 10,7651
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IRT %47 % #ic a=199 b=-0.26 c=0.21
[5 /48P ] bread
[ 537 ]
@® @ ®
AP r_
E57
= #k B O A AFE A
41 265 3.2 19.3 19.3
2 929 11.3 67.8 87.1
3 175 2.1 12.8 99. 9
9 2 .0 1 100.0
Br 1371 16. 6 100. 0
e BEE A RR Tl R 6870 83.4
(CTT) afe 8241 100. 0
EIE AT
£ 5 1 2% 3 A
E 9 & 19 .68 .13 .00 .00 @S 1 67. 761
AR .00 1.00 .00 .00 .00
A 49 .20 .31 .00 .00 # A 00,8012
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[5p) [ 4 > TH &4z BEEY > P F A BEBALLEL B3R -
AR o R B gAY k> YR AR o
A
[ 3428 ] @ snow @ rain @ clock
E44
= FAY | FoREAN | AHE A
I 164 2.0 12.0 12.0
2 294 3.6 21.6 33.6
3 895 10.9 65. 7 99.3
9 10 1 1 100. 0
R 1363 16.5 100. 0
v 52 AEmE G aR nd iR 6878 83.5
(CTT) e 8241 100. 0
F I AT
E 12 3 e
9 120 .22 .66 .00 .01 i % 1 65, 664
340 .00 .00 1.00 .00 .00
A .30 .49 .19 .00 .02 #u R 10.8118
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Ft\lfr[ﬁﬁ;ﬁ.rﬁ’ )i gf:'
IRT 48 % ¥ =1.61 b=-1.19 c¢c=0.24
[+ /42 p ] Please write down your name.
CREED
@® @ ®
g
E84
=< #ic | A AR A AR A
4 acen 2226 27.0 81.6 81.6
2 311 3.8 11.4 93.0
3 186 2.3 6.8 99.8
9 5 1 .2 100. 0
aie 2728 33.1 100. 0
+ L1 AiEE AR el ik 5513 66. 9
(CTT) e 8241 100. 0
EIE AT
F of x 2 3 A
3T 5 .82 .11 .07 .00 .00 W@ iE S 1 81,598
30 1.00 .00 .00 .00 .00
A .26 .46 .27 .00 .00 gwl R 0. 7361




3N

it ik 3-1-10 i WA ~F £ &1 T 2 B b IR S i -
AR AR B 72 %
IRT :#4% %k =78 b=010 c=0.21

Today is Tuesday, but Tommy isn’ t at school. He is in bed now.

He has a bad cold. He has to see a doctor.

g
Where is Tommy now?
1 At home. @ On the bus. @ At school.
E101
= B A FRE A AT A
4 ke 1 2377 28.8 57.8 57.8
2 450 5.5 10. 9 68. 7
3 1268 15. 4 30.8 99.6
9 18 .2 A 100. 0
e 4113 49.9 100.0
+ L3235 BRE A BB Tk 4128 50. 1
(CTT) e 8241 100. 0
F I AT
£ A7 1x 2 3 H i
I .hb8 .11 .31 .00 .00 Wi F 1 57.792
B AR .00 .00 .00 .00 .00
A e .00 .25 .74 .00 .01 #wl & 1 1.0000
LA
L AAEH A 4 4piR3-1-10> L R RI%RE 4 i F *g LT ROER A
FRSTOE
SATEEE | RE S -
2. i\%\ﬁ’ﬁ F 3 57.792% > MAr T g 73.00% o B A 2F 4 5 100% % &
# F Ko MAeEdF A QLG T4%% 25%EH T EIE 3 2 EE 20
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He has a bad cold. He has to see a doctor.

Today is Tuesday, but Tommy isn’ t at school.

He 1s in bed now.

18P
Why is Tommy in bed now?
M It" svery cold today. @ He is sick. ® It’ s Sunday today.
E102
S5 S R e I I
4ok 1 1432 17.4 34.8 34.8
2 2189 26.6 53.2 88.0
3 462 5.6 11.2 99.3
9 30 4 T 100. 0
e 4113 49.9 100. 0
- L 1eA dEE paRzadis 4128 50. 1
(CTT) e 8241 100. 0
EI AT
F 7 1 2% 3 Hu
S .35 .53 .11 .00 .01 i 5% 0 53,221
SNy .00 1.00 .00 .00 .00
A 7T .00 .21 .00 .02 #w & 11,0000
LA AT
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N ANEBRDBERIED BUESTAN

,f;tv,.] + &
BEF 8
- 5-2-1 24P FA BRI "HEE-FFRIF IR/ NE R H B
TR I
2R GRS
TR AR B R
IRT %38 ¥ a=1.95 b=-0.04 c=0.24
[ %Ep &ER]: 5N %
Where might you see this sign?
[ ] In a public park.
[ ] At a bus stop.
[ ] In a museum.
B GEIES
E T 1 2 3% H
v 5 R I R 24 11 65 00 00 @ iF 5 :64. 883
(CTT) B A . . . . . SLE = . .
AR .
LU PN 00 .00 1.00 .00 .00
LA .bh .31 .13 .01 .00 #u R 0. 8738
PALA T
RUEEST (LAY IV AEY T Ahi o (sign) P BEFEN A REIL DRI B
TR P
AAFH eEE a4 oo
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R
AR AL R TR
IRT 342 54k a=1.97 b= 0.17  c=0.32

(G L N R E R

How often does the bus run to the station?
[ 53057 ]

1 It takes me two hours.

@ Every twenty minutes.

@ 1 take the bus every day.

L]
(CTT)
F I AT

N 1 2% 3 His

EIH S 13 64 22 .00 00 W iB 5 :64. 153
® A 00 1.00 00 00 00

4 A e 28 21 49 01 .00 #Fw & :0.7897
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Fu £ &
B 8
i 1-2-3 i FHE P & 2 i HEfof 3 &% -
AR AL R e
IRT %47 - #c a=2.52 b= 0.74  c=0.16

[FIIme R AE]: =330 5 b

(W: I went to Yangmingshan with my classmates yesterday.
(M): Did you have a good time?

(W): Not really. It was sunny in the morning, but there were showers in
the afternoon,

and we got all wet.

8P Q: What was the weather like in Yangmingshan yesterday afternoon?
[ 3:E7]
1 It was rainy.
@ It was sunny.
@ It was snowy.
E O 1% 2 3 H s
FERE ek a0 39 20 00 00 a@de0.048
EI3 X . . . . W18 F 140,
crmy [0 T e s o ERE AR
VT AR
A A 98 .02 .01 .00 .00
AR 07 .66 .26 .01 .00 #Fwl & :0.9082
RS T
1. $t38¢ 0 TNot really, but, all wet , $8 &8 % » % i - #& | " shower  ,
Ry sunny | °

7 9

Sunny ¥ E ¥R 1:EE 2 "It was sunny. | ¥ &> & ¥ 1 "It was rainy. |
2 T shower
EDTEHE IRERS -
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AR AR e B TR
IRT %47 % #ic a=1.92 b= 1.09 c=0.18

Watching American movies you learn English. It" s a good way to
learn a foreign language.

2z p @ help

@ helps

@ helping

@ to help

g 1 2% 3 1 H
.
(e E 13 .68 .11 .08 .00 i i % :67. 902
EA A |
S L PO 00 1.00 .00 .00 .00

A e 29 .19 .30 .22 .00 g 10, 8096
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a=1.69 Db=-0.73 c=0.12

Ella: Where did your family go last summer?

Mary: We went to Matzu.

Ella: Really? How did you go there?
Mary: We went there =~ #  boat.

Ella: How much time did it to get there?
Mary: Almost eight hours.

Ella: Wow, that long? Did you get seasick?
Mary: No, but my husband and my daughter

Ella: That” s too bad. Did they feel better after you arrived at

e Matzu?
Mary: They did. By the way, you know Matzu is famous for its rice
wine, so we bought this bottle for you.
Ella: Wow! That’ s very of you! Thank you. 7
T
‘ : Matzu 5 #E|
@ by @ on @ for (@ with
¥R 1% 2 3 4 H i
EWAH |
(CTT) EIE S 7 10 07 .08 00 WS 75,095
Ew A |
R LU PN 1,00 .00 .00 .00 .00
AN 28 28 22 22 .00 #w R 0.7197
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Ella: Where did your family go last summer?

Mary: We went to Matzu.

Ella: Really? How did you go there?

Mary: We went there _ boat.

Ella: How much time did it #  to get there?

Mary: Almost eight hours.

Ella: Wow, that long? Did you get seasick?
Mary: No, but my husband and my daughter
L Ella: That’ s too bad. Did they feel better after you arrived at Matzu?
Mary: They did. By the way, you know Matzu is famous for its rice wine,

so we bought this bottle for you.

Ella: Wow! That’ s very of you! Thank you. )
T

‘ :Matzu & #E|

1 take (@ spend 3 cost 4@ have

E 1% 2 3 4 H
v BT EE .43 .37 .10 .10 .00 W iE 142,992

«rr +-————------"">"-"-,

D WA L A - .84 .11 .03 .02 .00

[RAN R 22 35 18 25 .00 #Ful i :0.6212
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a=0.84 b= 0.05 c=0.19

Ella: Where did your family go last summer?

Mary: We went to Matzu.

Ella: Really? How did you go there?

Mary: We went there _ boat.

Ella: How much time did it to get there?
Mary: Almost eight hours.

Ella: Wow, that long? Did you get seasick?
Mary: No, but my husband and my daughter #

Ella: That’ s too bad. Did they feel better after you arrived at

e Matzu?
Mary: They did. By the way, you know Matzu is famous for its rice
wine, so we bought this bottle for you.
Ella: Wow! That’ s very of you! Thank you. 7
T
‘ : Matzu 5 #E|
1 got @ were @ did @ had
¥R 1 2 RES 4 H i
FEWA |
(CTT) EIE S 16 13 59 11 .00 i i 5 :59. 280
EwAa |
SR PN 02 .00 .97 .01 .00
AN 28 30 19 23 .00 #Fw R 0. 7727
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it Atk 3-2-6i 1 fEHE Y ~E G &R R EBEDERP FEHFE
RARAL e R e
IRT 3% 3L % % a=1.06 b=-0.34  c=0.25058

Ella: Where did your family go last summer?

Mary: We went to Matzu.

Ella: Really? How did you go there?

Mary: We went there _ boat.

Ella: How much time did it to get there?
Mary: Almost eight hours.

Ella: Wow, that long? Did you get seasick?
Mary: No, but my husband and my daughter
Ella: That’ s too bad. Did they feel better after you arrived at
e Matzu?
Mary: They did. By the way, you know Matzu is famous for its rice
wine, so we bought this bottle for you.
Ella: Wow! That” s very _#  of you! Thank you.

T
‘ :Matzu & #E|
1) nice (@ proud @ shy @ funny
E O B3 2 3 4 A
e
(CTT) EI S 70 11 06 .13 00 WiFEF:70.076
gE A |
RN PN 97 .02 .01 .00 .00
A 32 22 18 28 .00 #wl & :0.6553
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a=1.44  Db=-0.35 c=0.19

oy

The following is a newspaper report about a car accident. Read the report
and answer the questions below.

MAY 20, 2008 Pingdong—There was an CAR ACCIDENT ON
accident on Zhongshan Road last night. |ZHONGSHAN ROAD
John Wang drove through a red light and hit|By Steve Shen

a bus. He was driving very fast and wasn’ t
wearing his seatbelt. His wife, Candy
Wang, was hurt, and is still in the
hospital. The driver of the bus, Peter Lin, L

was talking on his cellphone while
driving. Luckily, no one on the bus was
hurt. Emily Lee, a passer-by, saw the
accident and called the police.

: passer-by §& 4

What was Peter doing when the accident happened?

(1 He was talking on his cellphone.

@ He was running through a red light.
(@ He was wearing a seatbelt.

@ He was driving to a hospital.
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a=2.15 b=-0.06 c=0. 28

A8

The following is a newspaper report about a car accident. Read the report
and answer the questions below.

MAY 20, 2008 Pingdong—There was an CAR ACCIDENT ON
accident on Zhongshan Road last night. |ZHONGSHAN ROAD
John Wang drove through a red light and hit|By Steve Shen

a bus. He was driving very fast and wasn’ t
wearing his seatbelt. His wife, Candy
Wang, was hurt, and is still in the
hospital. The driver of the bus, Peter Lin, L

was talking on his cellphone while
driving. Luckily, no one on the bus was
hurt. Emily Lee, a passer-by, saw the
accident and called the police.

: passer-by §& 4

Who got hurt in the accident?
(1 Peter Lin.

@ Candy Wang.

@ John Wang.

@ Emily Lee.
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